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1. Does working parents’ absence affect children’s
psyches? Two new studies examine the question
from different perspectives. It turns out that early
adolescents’ sense of well-being isn’t affected by
how much time their parents spend at work, but it
is affected by their view of their parents’ moods at
the end of the workday, according to research by
Sandee Tisdale and Marcie Pitt-Catsouphes, of
Boston College. The better the perceived mood,
the higher the well-being,

What in the following is the best title for this
article?

(A) The importance of an after-work smile.

(C) The importance of working parents’ absence.
(D) The importance of mood. (A)
{E) The importance of children’s psyches.

(B)
Questions 23 are based on the following:
How interested are people in innovation — and how ()

does that change cross-culturally? What do users across

the world really want, how can we uncover and design

for their unmet needs, and what services can we attach (D)
to products to stay close to our customers? We've

found that these questions point to a new need for (E)
innovative cultures in the world today (distinct from

innovative companies). 3.
To start measuring the innovation culture in its pure

form, we used Google Insights for Search, which is a (A)
keyword optimization tool that reports what people are
searching for on the internet. We developed a smatl (B)
lexicon of terms that represent a wide spectrum of

innovation activities outside of the core R&D and patent ()
area. For example, we used innovation-linked terms like
“design thinking," "Six Sigma," "open innovation," and
"product design," among others. We then checked and (D)
cross referenced interest in those terms across country

lines. Here are the results — the countries we found to (E)
be most interested in innovation:
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We found India to be a convincing leader, with the
United States trailing second and Singapore, Canada,
S. Korea, and the United Kingdom following. Note
that even without data from China, Asia is bubbling
with interest in innovation.

(B} The importance of adolescents’ sense of well-being. 2. Which of the following, if true, would most seriously

weaken the result that India is a convincing leader?

The data does not account for the qualitative
difference in the interests.

Google search does not operate in China.
Therefore, China’s data is excluded from the resuit.
The interest indicator showed in the chart cannot
represent the capability of new product
development for the corresponding country.
Innovative companies are far more important than
innovative culture.

New products does not always address unmet
customer needs.

Which of the following is relatively an appropriate
way to calculate the innovation interest indicator?
The total search counts for those innovation-liked
terms in each country.

The search counts for those innovation-liked terms
per captia in each country.

The average search counts for those
innovation-liked terms in each firm in each
corresponding country.

The total search counts for those innovation-liked
terms divided by GDP in each country.

The total search counts for those innovation-liked
terms divided by R&D expenses in each country.
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4, Legislator: The alarming fact is that 90% of the
people in the country now report that they know
someone who is unemployed.

Governor: But a normal, moderate level of

unemployment is 5%, with 1 out of 20 workers

unemployed. So at any given time if a person
knows appropriately 50 workers, 1 or more will very
likely be unemployed.

(A) The current level of unemployment is not
moderate.

(B) It is unlikely that the people whose statements the
legislator cites are giving accurate reports.

(C} If at least 5% of workers are unemployed, the result
of asking a representative group of people cannot
be the percentage the legislator cites.

(D) The fact that 90% of the people know someone who
is unemployed is not an indication that
unemployment is abnormally high.

(E) if an unemployment figure is given as a certain
percent, the actual percentage of those without )
jobs is even higher.

5. Companies considering new cost-cutting
manufacturing processes often compare the
projected results of making the investment against
the alternative of not making the investment with
costs, selling prices, and share of market remaining
constant.

Which of the following, assuming that each is a
realistic possibility, constitutes the most serious
disadvantage for companies of using the method
above for evaluating the financial benefit of new
manufacturing processes?

(A} The period of year chosen for averaging out the cost
of the investment might be somewhat longer or
shorter, thus affecting the result.

[B) The costs of materials required by the new process
might not be known with certainty.

[C) In several years interest rates might go down,
reducing the interest costs of borrowing'money to
pay for the investment.

{D) Some cost-cutting processes might require such
expensive investments that there would be no net
gain for many years, until the investment was paid
for by savings in the manufacturing process.

[E) Competitors that do invest in a new process might
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6. For large farms to be as productive as they can be,
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reduce their selling prices and thus take market

share away from companies that do not.

their owners need to invest heavily in expensive
machinery. This typically requires them to go into
considerable debt, and interest on this debt is then a
significant fixed cost. This high fixed cost makes
those farmers vulnerable to operating losses if the
prices of their products drop.
This information above best supports which of the
following inferences about large farmers?
(A) They can be highly productive without being
profitable.
(B) They tend to be so highly productive that they
drive down market prices.
(€) They tend to be consistently profitable if their
owners borrow at low interest rates.
(D) They respond to operating losses by increasing
their productivity.
(E)

They cannot be profitable if their owners
depend on credit.

7. Stronger patent laws are needed to protect
inventions from being pirated. With that
protection, manufacturers would be couraged to
invest in the development of new products and
technologies. Such investment frequently results

in an increase in a manufacturer’s productivity.
Which of the following conclusions can most
properly be drawn from the information above?

(A) Stronger patent laws tend to benefit financial

institutions as well as manufacturers.

(B) Increased productivity in manufacturing is

likely to be accompanied by the creation of more

manufacturing jobs.

(@] Manufacturers will decrease investment in the

development of new products and technologies

unless there are stronger patent laws.

(D) The weakness of current patent laws has been

a cause of economic recession.

(E) Stronger patent laws would stimulate

improvement in productivity for many

manufacturers.

8. Efficiency experts will attempt to improve the

productivity of an office by analyzing production
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study the organization of those tasks and advise

managers on techniques to speed production, such

as rescheduling of employee breaks or relocating

various equipment such as the copying machines. |

have found a way to accomplish increases in

efficiencies with much less to do.  Office workers
grow increasingly productive as the temperature
drops, so long as it does not drop fall below 68°F.
The passage leads most naturally to which of the
following conclusions?

(A) Some efficiency gains will be short-term only.

(B) To maintain peak efficiency, an office manager must

occasionally restructure office tasks.

(C) Employees are most efficient when the temperature
is at 68°F.

(D) The temperature-efficiency formula is applicable to
all kinds of work.

(E) Office workers will be equally efficient at 67°F and
69°F.

9. After the national speed fimit of 55 miles per hour
was imposed in 1974, the number of deaths per mile
driven on a highway fell abruptly. Since then,
however, the average speed of vehicles on highways
has risen, but the number of deaths per mile driven

on a highway has continued to fall.
Which of the following conclusions can be properly
drawn from the statements above?

(A) The speed limit alone is probably not responsible
for the continued reduction in highway deaths in
the years after 1974.

(B) People have been driving less since 1974.

(C) Driver-education courses have been more effective
since 1974 in teaching drivers to drive safely.

(D} In recent years highway patrols have been less
effective in catching drivers who speed.-

(E) The change in the speed limit cannot be responsible
for the abrupt decline in highway deaths in 1974.

10. Corporations exist to make money for their

shareholders. Corporations have no money to
give away because any excess funds belong to the
shareholders. Therefore, corporations should not
contribute to charities.

Which of the following most seriously weaken the

reasoning in the argument above?
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procedures into discrete work tasks. They then

(A) Managers are being trained to consider the ethical,
moral and social effects of their decisions in
additional to the economic factors.

(B) Some of the largest corporations in the country are
known to be major contributions to philanthropic
organizations.

(C) Shareholders tend to make larger individual
donations to charities than do peoplie who hold no
shares in corporations.

(D) Most corporations contribute solely to large
well-known, and highly organized charitable
organizations rather than to individuals in need.

(E) The favorable publicly and tax advantages gained by

corporate charity often result in an increase in

profits greater than the actual costs of making the
donations.
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15. Correctly measuring the productivity of service
workers is complex. Consider, for éxample, postal
workers: they are often said to be more productive
if more letters are delivered per postal worker. But
is this really true? What if more letters are lost or
delayed per worker at the same time that more are
delivered?

The objection implied above to the productivity
measure described is based on doubts about the
truth of which of the following statements?

(A) Postal workers are representative of service
workers in general.

(B) The delivery of letters is the primary activity of the
postal service.

(C) Productivity should be ascribed to categories of
workers, not to individuals.

(D) The quality of services rendered can appropriately
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(E) The number of letters delivered is relevant to
measuring the productivity of postal workers.

16. (10%)
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be ignored in computing productivity.




